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Solution:

Step 1 : Multiply the elements in the first row of A with the corresponding
elements in the first column of B. Add the products to get the element C 1,
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Showing Step 1 in detail:
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Step 2: Multiply the elements in the first row of A with the corresponding
elements in the second column of B. Add the products to get the element C 12
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Step 3: Multiply the elements in the second row of A with the corresponding
elements in the first column of B. Add the products to get the element C »;
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Step 4: Multiply the elements in the second row of A with the corresponding
elements in the second column of B. Add the products to get the element C 2
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Matrices that can or cannot be Multiplied

Not all matrices can be multiplied together.
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For example, the product of A and B is not defined.
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We cannot multiply A and B because there are 3 elements in the row to be
multiplied with 2 elements in the column

This means that we can only multiply two matrices if the number of columns in
the first matrix is equal to the number of rows in the second matrix.

An easy method to determine whether two matrices can be multiplied together
would be to check the order of the matrices.
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